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1
Initial investment  [$5,195.94 Results | Initial investment  [$5,195.94 Results
ARnua) ConEibation Ending balance $27,048.43 | Annual contribution Ending balance $21,139.18
Total principal $5,195.94 Total principal $5,195.94
Monthly contribution Total interest $21,852.49 | Monthly contribution Total interest $18,756.75
Contribute at the @) beginning O) end “interest rate of 11% compound daily is f Contribute at the @) beginning O end Total tax $2,813.51
. : equivalent to annual rate of 11.626% i s "
of each compounding period of each compounding period Total interest after tax $15,943.24
Interest rate 11 % o | | Interest rate 1 % * interest rate of 11% compound daily is
@ Initial investment equivalent to annual rate of 11.626%
Compound daily 3 @ Interest | Compound daily 3
Investment length | 15 vyears " 0 monthsl .. 1 ‘ Investment length l 15 years ][ 0 mon(hsi @% = :rfli‘gérléisr:\gef'ts;n‘zr;t
1 Tax rate @ 0 % | Tax rate @ 15 % . Tax
Inflation rate 0 % i Inflation rate 0 %
Accumulation Schedule ! Accumulation Schedule
Annual Schedule  Monthly Schedule ki = Initial investment | Annual Schedule  Monthly Schedule $20K == |nitial investment
& i . == |nterest i == [nterest after tax
Year Deposit Interest Ending balance $20K Ml Year Deposit Interest  Tax E:I::‘r;ge —
1 $5,195.94 $604.08 $5,800.02 $15K i
2 $000 $674.31 $6.474.33 sioK | 18519594 $509.46 $89.92 $570548
3 $000 $752.70 $7.227.03 ssk "”I" i 2 $0.00 $658.25 $98.74 $6,264.99 o "IIII
4 $0.00  $840.21 $8,067.24 $0 5 : s s 3 $0.00 $722.80 $108.42 $6,879.37 30 3 : 0 1%
5 $0.00 $937.89 $9.005.13 Year 4 $0.00 $793.68 $119.05 $7,554.00 Year
6 $000$1046.93  $10,052.07 I 5 5000 $871.51$130.73 $8,204.79
7 $0.00 $1,168.65 $11,220.72 | 6 $0.00 $956.98 $143.55 $9,108.22
8 $000$130452  $12.52523 : 7 $0.00 $1,050.83 $157.62 $10,001.43
o

€000 $1,153.88 $173.08 $10,982.22
00 $1,267.03 $190.05 $12,059.20
00 $1,391.29 $208.69 $13,241.79

" $0.00 $1,527.72 $229.16 $14,540.36
| 12 $0.00 $1,677.54 $251.63 $15,966.27
13 $0.00 $1,842.05 $276.31 $17,532.01
14 $0.00 $2,022.69 $303.40 $19,251.29
15 $0.00 $2,221.05 $333.16 $21,139.18

9 $0.00 $1,456.18 $13,981.41
10 $0.00 $1,625.47 $15,606.88 Original Electronic Image
11 $0.00 $1,814.45 $17,421.33
12 $0.00 $2,025.40 $19,446.73
13 $0.00 $2,260.87 $21,707.60
14 $0.00 $2,523.72 $24,231.31
15 $0.00 $2,817.12 $27,048.43
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Interest is the compensation paid by the borrower to the lender for the use of money as a percent or an
amount. The concept of interest is the backbone behind most financial instruments in the world.

There are two distinct methods of accumulating interest, categorized into simple interest or compound
interest.

Interest is the compensation paid by the borrower to the lender for the use of money as a percent or an
amount. The concept of interest is the backbone behind most financial instruments in the world.

There are two distinct methods of accumulating interest, categorized into simple interest or compound
interest.

Simple Interest .
Simple Interest
The following is a basic example of how interest works. Derek would like to borrow $100 (usually
called the principal) from the bank for one year. The bank wants 10% interest on it. To calculate
interest:

The following is a basic example of how interest works. Derek would like to borrow $100 (usually
called the principal) from the bank for one year. The bank wants 10% interest on it. To calculate
$100 x 10% = $10 Inferest.

This interest is added to the principal, and the sum becomes Derek's required repayment to the bank
one year later.

$100 x 10% = $10
This interest is added to the principal, and the sum becomes Derek's required repayment to the bank
$100 + $10 = $110 one year later.
Derek owes the bank $110 a year later, $100 for the principal and $10 as interest.

Let's assume that Derek wanted to borrow $100 for two years instead of one, and the bank calculates
interest annually. He would simply be charged the interest rate twice, once at the end of each year.

$100 + $10(year 1) + $10(year 2) = $120
Derek owes the bank $120 two years later, $100 for the principal and $20 as interest.
The formula to calculate simple interest is:
interest = principal x interest rate x term

$100 + $10 = $110
Derek owes the bank $110 a year later, $100 for the principal and $10 as interest.

Let's assume that Derek wanted to borrow $100 for two years instead of one, and the bank calculates
interest annually. He would simply be charged the interest rate twice, once at the end of each year.

$100 + $10(year 1) + $10(year 2) = $120
Derek owes the bank $120 two years later, $100 for the principal and $20 as interest.
The formula to calculate simple interest is:

When more complicated frequencies of applying interest are involved, such as monthly or daily, use interest = principal x interest rate x term

the formula: When more complicated frequencies of applying interest are involved, such as monthly or daily, use
the formula:
y - ¥ term
interest = principal x interest rate x ——— term
frequency interest = principal x interest rate x ———
frequency

However, simple interest is very seldom used in the real world. Even when people use the everyday
word 'interest,' they are usually referring to interest that compounds. However, simple interest is very seldom used in the real world. Even when people use the everyday
word 'interest,' they are usually referring to interest that compounds.

Compound Interest
Compound Interest
Compounding interest requires more than one period, so let's go back to the example of Derek
borrowing $100 from the bank for two years at a 10% interest rate. For the first year, we calculate

interest as usuakzy hibit Printouts Appendix, Page 127 of 127
$100 x 10% = $10

This interest is added to the principal, and the sum becomes Derek's required repayment to the bank
for that present time.

Compounding interest requires more than one period, so let's go back to the example of Derek
borrowing $100 from the bank for two years at a 10% interest rate. For the first year, we calculate
interest as usual.

$100 x 10% = $10

This interest is added to the principal, and the sum becomes Derek's required repayment to the bank
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B I Total principal $5,195.94 - Total principal $5.195.94 Total principal Total principal $5.195.94
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	MEMORANDUM IN RESPONSE TO ERRANT POST-HEARING LETTER
	HOLDINGS AND REASONING TO DATE
	On 10-6-23, did the MTC issue a MEMORANDUM AND ORDER
	On 10-6-23, did the MTC reject the Respondent’s 8-24-23 written submission
	On 8-24-23, did the Respondent introduce a written submission
	On 8-22-23, did the MTC presiding Judge take the case under advisement.
	On 3-2-23, did the Baltimore County Property Tax Assessment Appeals Board (BCPTAAB)issue an ORDER
	On 10-19-22, the Baltimore County District Court heard and Dismissed Case # D-08-CV-22-023346.
	On 9-27-22, did the Petitioner file an Appeal with BCPTAAB.

	I. QUESTIONS PRESENTED
	A. Is it true or false that the Homeowners' Tax Credit would not apply
	B. According to the Respondent, to what dates does
	C. To what home purchaser does the Homeowners' Tax Credit apply.
	D. Can a home purchaser be eligible for the Homeowners' Tax Credit prior
	E. For a home purchaser, does the date of eligibility
	F. Would a reasonable person conclude
	G. In the event of a property transfer
	H. For home Purchasers, how is the amount
	I. Has the Respondent demonstrated Nonfeasance
	J. Did the Respondent impose persistent impediments
	K. Did the Petitioner seek remedies beyond
	L. Does the Respondent have a Fiduciary Duty
	M. On what is based the doctrine of Due Process.
	N. Does the doctrine of Due Process pertain to this case
	O. Have the petitioner's rights to Due Process been violated
	P. Has the Respondent led the Public utterly astray
	Q. Has the Respondent’s Nonfeasance, Negligence, Failure of Duty,
	R. How shall the Petitioner be made reasonably whole.

	II. STATEMENT OF FACTS
	The Petitioner established a Legal Interest in the form of a ‘Future Interest’
	The Petitioner established a Legal Interest in the form of a ‘Contingent Interest’
	The Petitioner established a Legal Interest in the form of a ‘Use and Occupancy Agreement’
	The Petitioner established a Legal Interest in the form of an executed ‘Contract of Sale’

	III. STANDARD OF REVIEW
	Maryland Tax Court determines questions of law de novo – COMAR Title 14,Subtitle 12.01.11.

	IV. ARGUMENT & AUTHORITIES
	A. The notion that that
	B. The HTC program is shrouded in mystery.
	C. The Homeowners' Tax Credit applies to
	D. A home purchaser is always eligible for the HTC prior to
	E. The Settlement Date is a convenient temporal marker
	F. § 9-104 explicitly recognizes the possibility
	G. For an HTC recipient who is a Seller of property
	H. For Purchasers, the calculation of the Credit is
	I. From the beginning, as a Home Purchaser in 2019
	J. In the matter of determining if the Petitioner did “actually reside”
	K. The Petitioner sought assistance from his elected representatives.
	L. It is well established that for programs such as
	M. Authorities are abundant
	N. The Maryland Tax Court needs consider precedent
	O. There is no way to summarize the extent of repeated Deprivation of Due Process.
	P. [Inserted Addendum] Only after the writing of this Memorandum
	Q. In addition to its miscalculation of the Tax Credit correctly due
	R. The 2019 RE Tax Bill was paid by a partial liquidation

	V. CONCLUSION
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